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GENERAL INSTRUCTIONS TO THE EXAMINEES:

1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm`©V… {bI| &

Candidate must write first his/her Roll No. on the question paper
compulsorily.

2) g^r àíZ H$aZo A{Zdm`© h¢ &

All the questions are compulsory.

3) àË`oH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &

Write the answer to each question in the given answer-book only.

4) {OZ àíZm§o ‘| AmÝV[aH$ IÊS> h¡, CZ g^r Ho$ CÎma EH$ gmW hr {bIo§ &

For questions having more than one part the answers to those parts
are to be written together in continuity.
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IÊS> - A
SECTION - A

1) àíZ g§»¶m 1 ‘| (i go xv) VH$ Hw$b 15 àíZ h¡ àË¶oH$ àíZ EH$ A§H$ H$m h¡& [15 × 1 = 15]
Question No. one (i to xv) has total 15 questions, each question is of one mark.
i) {H$g Xoe Zo 1990 ‘| Hw$d¡V na AmH«$‘U {H$¶m Wm?

(A) BamH$ (~) BamZ
(g) {‘l (X) gCXr Aa~
Which country invaded Kuwait in 1990?

(A) Iraq (B) Iran

(C) Egypt (D) Saudi Arabia

ii) "¶wamonr¶ g§K' H$s ñWmnZm H$~ hþB©?
(A) 1992 (~) 1990

(g) 1991 (X) 1993

When was the 'European Union' established?

(A) 1992 (B) 1990

(C) 1991 (D) 1993

iii) lrb§H$m H$mo AmOmXr H$~ {‘br?
(A) 1947 (~) 1946

(g) 1948 (X) 1949

When did SriLanka get independence?

(A) 1947 (B) 1946

(C) 1948 (D) 1949

5) àíZ nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVaU ‘| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr
^mfm Ho$ àíZ H$mo ghr ‘mZ| &
If there is any error/difference/contradiction in Hindi & English versions of
the question paper, the question of the Hindi version should be treated
valid.

6) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$_m§H$ Adí` {bI| &
Write down the serial number of the question before attempting it.
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iv) g§¶w³V amï´> g§K Ho$ àW‘ ‘hmg{Md H$m¡Z Wo?

(A) ¶y WmQ> (~) Hw$V© dmëS>hr‘

(g) Q´>mB½d br (X) ~wVag ~wVag Kmbr

Who was the first Secretary General of the United Nations?

(A) U Thant (B) Kurt Waldheim

(C) Trygve lie (D) Boutros Boutros Ghali

v) "n¥Ïdr gå‘obZ' H$~ hþAm?

(A) 1991 ‘| (~) 1992 ‘|

(g) 1994 ‘| (X) 1995 ‘|

When did 'Earth-Summit' take place?

(A) In 1991 (B) In 1992

(C) In 1994 (D) In 1995

vi)  d¡ídrH$aU Ho$ ~mao ‘| H$m¡Zgm H$WZ ghr h¡?

(A) d¡ídrH$aU {g’©$ Am{W©H$ n[aKQ>Zm h¡&

(~) d¡ídrH$aU H$s ewê$dmV 1985 ‘| hþB©&

(g) d¡ídrH$aU Am¡a npíM‘rH$aU g‘mZ h¡&

(X) d¡ídrH$aU EH$ ~hþAm¶m‘r n[aKQ>Zm h¡&

Which of the statement is true about Globalisation?

(A) Globalisation is purely an economic phenomenon

(B) Globalisation began in 1985.

(C) Globalisation is same thing and westernisation

(D) Globalisation is multi-dimensional phenomenon
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vii) aOdm‹S>m| Ho$ emgH$m| H$mo ^maVr¶ g§K ‘| em{‘b H$aZo Ho$ {bE amOr H$aZo ‘| {H$g ZoVm H$s ‘hÎdnyU©
ŷ{‘H$m ahr?

(A) gaXma nQ>ob
(~) Odmhabmb Zohê$
(g) ‘hmË‘m Jm§Yr
(X) í¶m‘m àgmX ‘wIOu
Which leader played an important role in persuading the rulers of the princely
states to join the Indian Union?
(A) Sardar Patel
(B) Jawaharlal Nehru
(C) Mahatma Gandhi
(D) Shyama Prasad Mukherjee

viii) ^maV aËZ go gå‘m{ZV àW‘ ^maVr¶ H$m¡Z Wo?
(A) bmb ~hmXþa emór (~) gr. amOJmonmbmMmar
(g) ‘moamaOr XogmB© (X) XrZ X¶mb CnmÜ¶m¶
Who was the first India to be awarded the Bharat Ratna?
(A) Lal Bahadur Shastri (B) C. Rajagopalachari
(C) Morarji Desai (D) Deen Dayal Upadhyaya

ix) JwQ>{Zanoj AmÝXmobZ Ho$ àUoVm h¡ -
(A) npÊS>V Zohê$ (~) Zm{ga
(g) ‘me©b Q>rQ>mo (X) Cn¶w©³V g^r
The founder of the Non-Aligned Movement is -
(A) Pandit Nehru (B) Nasser
(C) Marshal Tito (D) All of the above

x) "Jar~r hQ>mAmo' H$m Zmam {H$gZo {X¶m?
(A) BpÝXam Jm§Yr (~) am‘‘Zmoha bmo{h¶m
(g) Ho$. H$m‘amO (X) bmb ~hmXþa emór
Who gave the Slogan 'Garibi Hatao'?
(A) Indira Gandhi (B) Ram Manohar Lohia
(C) K. Kamaraj (D) Lal Bahadur Shastri
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xi) g§{dYmZ Ho$ AZwÀN>oX 352 Ho$ AZwgma AmnmVH$mb H$s KmofUm H$m¡Z H$a gH$Vm h¡?

(A) amï´>n{V (~) àYmZ‘§Ìr

(g) bmoH$g^m AÜ¶j (X) amÁ¶g^m AÜ¶j

Who can declare emergency as per Article 352 of the constitution?

(A) President (B) Prime Minister

(C) Speaker of Loksabha (D) Chairman of Rajyasabha

xii) "X{bV g‘wXm¶ H$m ‘w{³VXmVm' {ZåZ ‘| go {H$go H$hm OmVm h¢?

(A) S>m°. Aå~oS>H$a (~) n§{S>V Odmhabmb Zohê$

(g) S>m°. amO|Ð àgmX (X) gŵ mfM§Ð ~mog

Who among the following is known as the 'liberator of the Dalit communities'?

(A) Dr. Ambedkar (B) Pandit Jawaharlal Nehru

(C) Dr. Rajendra Prasad (D) Subhash Chandra Bose

xiii) n§Om~ Ed§ h[a¶mUm amÁ¶m| H$m JR>Z H$~ hþAm?

(A) 1950 ‘| (~) 1947 ‘|

(g) 1966 ‘| (X) 1977 ‘|

When were the states of Punjab and Haryana Formed?

(A) In 1950 (B) In 1947

(C) In 1966 (D) In 1977

xiv) amï´>r¶-‘moMm© H$s gaH$ma H$~ ~Zr?

(A) 1989 ‘| (~) 1999 ‘|

(g) 1990 ‘| (X) 1996 ‘|

When was the National - Front government formed?

(A) In 1989 (B) In 1999

(C) In 1990 (D) In 1996
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xv) 1991 Ho$ MwZmdm| ‘| {ZåZ ‘| go H$m¡Z àYmZ‘§Ìr ~Zm?

(A) Za{gåhmamd (~) amOrd Jm§Yr

(g) dr.nr. qgh (X) AQ>b {~hmar dmOno¶r

Who among the following became the Prime Minister in the election of
1991?

(A) Narasimha Rao (B) Rajiv Gandhi

(C) V.P. Singh (D) Atal Bihari Vajpayee

2) àíZ g§. 2 ‘§o (i go v) VH$ Hw$b 5 àíZ h¡, àË¶oH$ àíZ EH$ A§H$ H$m h¡& [5 × 1 = 5]

Question No. 2 (i to v) has 5 questions, each question is of one mark.

i) nW© ................. H$m EH$ eha h¡& (AmñQ´>o{b¶m/X{jU A’«$sH$m)

Perth is a city in __________. (Australia/South Africa)

ii) g§¶w³V amï´> g§K H$s gwajm n[afX² ‘| ............... AñWmB© gXñ¶ h¡& (12/10)

There are _________ non permanent members in the security council of

the United Nations (12/10)

iii) ^maV Zo ............... ‘| nhbm na‘mUw narjU {H$¶m Wm& (1974/1975)

India first tested a nuclear device in ____________.(1974/1975)

iv) Z¡ëbmoa {Obm .................... amÁ¶ ‘| h¡& (AmÝY«àXoe/CÎmamIÊS>)

Nellore district is in the state of _____________ (Andhra Pradesh/

Uttarakhand)

v) "~m‘go’$' H$m JR>Z .................. ‘| hþAm Wm&(1975/1978)

BAMCEF was formed in ________ (1975/1978)
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àíZ g§. 3 go§o 12  VH$ Hw$b 10 A§H$ h¡ àË¶oH$ àíZ EH$ A§H$ H$m h¡& [10 × 1 = 10]
Question No. 3 to 12 are total 10 questions, each question is of one mark.

3) ¶yamonr¶ g§K (EU) Ho$ PÊS>o ‘| 12 {gVmao ³¶m| h¡? ~VmAm|&
Why are the 12 stars in the flag of the European Union? Write.

4) "{gÝYw Ob gpÝY' H$~ d {H$Z-{H$Z Xoem| Ho$ ~rM hþB©?
When and between which countries the 'Indus Water Treaty' was signed?

5) ^maV Ho$ àW‘ àYmZ‘§Ìr d {dXoe ‘§Ìr H$m¡Z Wo?
Who was the first Prime Minister and Foreign Minister of India?

6) {H$g ‘wH$X‘| ‘| g§{dYmZ Ho$ ‘yb ŷV T>m±Mo H$s YmaUm H$m OÝ‘ hþAm?
In which case the concept of basic structure of the constitution was born?

7) "{MnH$mo AmÝXmobZ' H$s ewê$dmV H$~ hþB©?
When did the 'Chipko Movement' Start?

8) Ama Q>r AmB© (RTI) H$m nyam Zm‘ {bImo&
Write the full name of RTI.

9) ^maVr¶ ŷ.^mJ Ho$ {H$g joÌ H$mo gmV ~hZm| H$m ^mJ H$hm OmVm h¢?
Which part of the Indian territory is called the seven sisters region.

10) B©. dr. am‘mñdm‘r Zm¶H$a {H$g Zm‘ go à{gÕ Wo?
E.V. Ramaswami Naicker was famous by what name?

11) "amOJ' H$m nyam Zm‘ {bImo&
Write the full name of NDA.

12) Amo ~r gr (OBC) H$m nyam Zm‘ {bImo&
Write the full name of OBC.

[ Turn Over
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IÊS> - ~

SECTION - B

àíZ g§»¶m 13 go 19 VH$ Hw$b 7 àíZ h¡& àË¶oH$ àíZ Xmo A§H$ H$m h¡& [7 × 2 = 14]

Question No. 13 to 19 are total 7 questions, each question is of two marks.

13) EH$ Y«wdr¶ {díd Ho$ ³¶m VmËn¶© h¡? ~VmAmo&

What is meant by unipolar world? Write.

14) Am{g¶mZ Ho$ gXñ¶ Xoe H$m¡Z-H$m¡Z go h¡?

Which are the member countries of ASEAN?

15) g§¶w³V amï´> g§K H$s Mma {d{eï> EoOo§{g¶m| Ho$ Zm‘ {bImo&

Write the names of four specialized agencies of the United Nations.

16) ^maVr¶ OZg§K Ho$ à‘wI ZoVm H$m¡Z H$m¡Z Wo?

Who were the main leaders of Bharatiya Janasangh?

17) H$ma{Jb g§Kf© Ho$ ~mao ‘| g§{já ‘| {b{I¶o&

Write in brief about the Kargil Conflict.

18) {~hma AmÝXmobZ ³¶m Wm?

What was the Bihar movement?

19) AmZÝXnya gm{h~ àñVmd Ho$ {ddmXmñnX hmoZo H$m ³¶m H$maU Wm?

Why did the Anandpur Sahib resolution become controversial?
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IÊS> - g

SECTION - C

àíZ g§»¶m 20 go 25 VH$ Hw$b 6 àíZ h¡& àË¶oH$ àíZ VrZ A§H$ H$m h¡& [6 × 3 = 18]

Question No. 20 to 25 are total 6 questions, each question is of three marks.

20) ^maV H$s na‘mUw Zr{V na g§{já {Q>ßnUr H$s{O¶o&

Comment briefly on India's nuclear policy.

21) e{³V gÝVwbZ ³¶m h¡? H$moB© Xoe Bgo H¡$go H$m¶‘ H$aVm h¡?

What is balance of power? How could a state achieve this?

22) [a¶mo gå‘obZ Ho$ ³¶m n[aUm‘ hþE?

What were the outcomes of the Rio Summit?

23) {dídì¶mnr "nmañn[aH$ Ow‹S>md' ³¶m h¢? BgHo$ H$m¡Z H$m¡Z go KQ>H$ h¡?

What is worldwide interconnectedness? What are its components?

24) "{Q´>ñQ> {dX S>opñQ>Zr' ³¶m h¡? ~VmAmo&

What is 'tryst with destiny'? Write.

25) H$m§Jo«g nmQ>u {H$Z ‘gbm| H$mo boH$a 1969 ‘| Qy>Q> H$s {eH$ma hþB©?

Discuss the major issue which led to the formal split of Congress Party in 1969?

[ Turn Over
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IÊS> - X
SECTION - D

àíZ g§»¶m 26 go 28 VH$ Hw$b 3 àíZ h¡& àË¶oH$ àíZ N> A§H$ H$m h¡& [3 × 6 = 18]
Question No. 26 to 28 are total 3 questions, each question is of six marks.

26) {ZåZ{b{IV na {Q>ßnUr {bImo -
1) Omogo’$ ~«m°O Q>rQ>mo 2) JwQ>{Zanoj AmÝXmobZ
Write a note on the following -
1) Josip Broz Tito 2) Non-Aligned Movement

AWdm/OR
erV ¶wÕ go h{W¶mam| H$s hmo‹S> Am¡a h{W¶mam| na {Z¶ÝÌU-¶o XmoZm| hr à{H«$¶mE± n¡Xm hþB©& BZ XmoZm| à{H«$¶mAm| Ho$
³¶m H$maU Wo?
The Cold War produced an arms race as well as arm control. What were the
reasons for both these development?

27) {ZåZ{b{IV ‘| ‘ob ~¡R>mE± -
i) {‘ImBb Jmo~m©Mod H$) gmo{d¶V g§K H$m CÎmam{YH$mar
ii) em°H$ Woaonr I) g¡Ý¶ g‘Pm¡Vm
iii) ê$g J) gwYmam| H$s ewê$dmV
iv) ~mo[ag ¶oëQ>{gZ K) Am{W©H$ ‘m°S>b
v) dmagm° L>) ê$g Ho$ amï´>n{V
vi) ê$~b M) ê$gr ‘wÐm
Match the following -
i) Mikhail Gorbachev a) Successor of USSR
ii) Shock Therapy b) Military Pact
iii) Russia c) Introduced reforms
iv) Boris Yeltsin d) Economic model
v) Warsaw e) President of Russia
vi) Ruble f) Russian currency

AWdm/OR
gmo{d¶V àUmbr H$s {deofVmAm| H$m CëboI H$s{O¶o&
Mention the features of Soviet system.
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28) Xÿgar n§Mdfu¶ ¶moOZm Ho$ Xm¡amZ Am¡Úmo{JH$ {dH$mg ~Zm‘ H¥${f {dH$mg H$m {ddmX Mbm Wm& Bg {ddmX ‘| ³¶m
³¶m VH©$ {X¶o J¶o?

State the main arguments in the debate that ensued between industrialisation and
agricultural development at the time of the second five year plan.

AWdm/OR

h[aV H«$mpÝV ³¶m Wr? h[aV H«$mpÝV Ho$ Xmo gH$mamË‘H$ d Xmo ZH$mamË‘H$ n[aUm‘m| H$m CëboI H$amo&

What was the Green Revolution? Mention two positive and two negative
consequences of the Green Revolution.


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